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| cach space. Then mark your answer sheet.
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| Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

Mrs. Harding herself was thin and frail but her son was a sixteen-year-old.
1) unbearable 2) verbose 3) sturdy 4) lethargic
Some tribes still the more remote mountains and jungles of the country.

1) forego 2) inhabit 3) ensue 4) aggravate
The of coffee brought Christine into the small cafe.

1) aroma 2) fragility 3) whim 4) badge

The client our proposal because they found our presentation banal and
unimpressive.

1) recognized 2) emulated 3) hailed 4) rejected
Immediately overcome by for the wrong he had done, I lowered him to the floor
and tried to apologize.

1) remorse 2) charity 3) stubbornness 4) esteem

A health inspector gave instructions on how to correct the problem; we all found
out how to handle the situation.

1) perpetual 2) rudimentary 3) explicit 4) trivial

| the cold I was getting by taking plenty of vitamin C pills and wearing a scarf.

1) vanished 2 )squandered 3) forestalled 4) penetrated

Why would Ian want to claim his inheritance and then give all his money away? It was a
to me.

1) riddle 2) peril 3) glory 4) fragment

He was later accused of writing loan and deposit records, found guilty and

sentenced to three years of imprisonment.

1) essential 2) fraudulent 3) vulgar 4) witty

The question of how the murderer had gained entry to the house the police for

several weeks.

., 1) exhilarated 2) assailed 3) countered 4) perplexed

Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

Scuba divingis a form of underwater diving in which a diver uses a self-contained
underwater breathing apparatus (scuba) to breathe underwater.

Unlike other modes of diving. (11) rely either on breath-hold or on air pumped from
the surface, scuba divers carry their own source of breathing gas, (usually compressed air),
(12) greater freedom of movement than with an air line or diver’s umbilical and longer
underwater endurance than breath-hold. Scuba equipment may be open circuit, in which
exhaled gas (13) the surroundings, or closed or semi-closed circuit, (14)
is scrubbed to remove carbon dioxide. and (15) replenished from a supply of feed gas
before being re-breathed.

1) that 2) on which they 3) which 4) they

1) allowing them 2) they allow 3) allowed them 4) to allow

1) exhausts 2) is exhausted to 3) exhausting 4) be exhausted
1) where the gas breathing 2) which breathes the gas

3) the breathing gas which 4) in which the breathing gas

1) the oxygen is used 2) the oxygen used is

3) uses the oxygen to be 4) used is the oxygen
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Directions: Read the following tow passages and answer the questions by
choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on

your answer sheet.
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Passage 1:
Disaster Management Following the Chi-Chi Earthquake in Taiwan

The most important question that should be addressed is whether it was possible to reduce the
number of casualties. There were several objective factors that made the 1999 earthquake in
Taiwan particularly devastating. First, the epicenter was located close to the surface of the
earth, causing the main shock to be severe, and was followed by several strong aftershocks.
Also. in the mountain areas, the tropical climate promoted massive landslides that caused
additional casualties. It remains questionable whether the death toll would have been lower if
the event had occurred during the day when the majority of people were not inside apartment
buildings but in offices. schools. stores, or on the highways. There is no doubt. however. that
the occurrence of this event at night time made the initial rescue procedures more challenging,
especially in the conditions of a blackout.

According to the above text ----------- -.

1) the number of deaths could have been reduced if population had been younger and stronger.

2) the The number of deaths could have been reduced if people had not been in their work
places

3) the number of deaths could have been reduced if the sources of earthquake was close to the
surface.

4) the number of deaths could have been reduced if the earthquake had occurred during office
hours.

“blackout”means:
1) burglary 2) darkness
3) black market 4) the exit routes were in black color.

Which sentence is true according to the text above?

1) The darkness was not a problem at all.

2) The rescue team could not work efficiently in darkness.

3) The only cause of the high number of casualties was due to the landslide.

4) The location of the source of the earthquake did not have any effect on the number of
casualties.

Which sentence is false according to the text above?

1) People of Taiwan didnot experience any aftershock.

2) The landslide was one of the factors affecting human casualties.

3) The rescue team had difficulty in doing their jobs because of the blackout.

4) There was no option available for the people of Taiwan to reduce the number of casualties

What is the meaning of "'that should be addressed'?

1) The address of the people who died should have been mentioned.

2) Someone should have mentioned the importance of giving the right address.

3) It should be mentioned if there was any option available to reduce the number of casualties.

4) It should be mentioned if there was not any option available to reduce the death toll.
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According to the text above which is the closest meaning to*devastating”?

1) To cause great damage or harm. 2) Strong feeling
3) Dramatic. 4) To build
“objective” means ----------- .

1) goal

2) intangible subject

3) the starting point

4) based on facts rather than feelings or opinions

According to the text “epicenter” means:

1) the part of the earth's surface directly above the focus of an earthquake
2) the deep layer of rocks that causes aftershocks

3) the bed rock that is close to the surface

4) the top soil close to the surface

According to the text “severe” means:

1) gentle 2) rigid 3) very bad 4) a number of things
According to the text “promote” means:

1) advance 2) distribute 3) downgrade 4) remove

Passage 2:

Disaster Debris Management

Major disasters during the last decade have raised questions regarding response delays and
significant environmental impacts due to the debris generated. Medical care, transportation of
victims or relief teams, firefighting, provision of shelter. food, clothing, and water supplies
were all delayed due to transportation difficulties as a result of debris blocked roads.

The amount of debris generated by some disasters was equivalent in volume to years, if not
decades, of normal solid waste production in the affected jurisdictions. Thus, landfill capacities
were overwhelmed: roads were damaged by trucks hauling debris: dust produced by clearance
operations annoyed the population for several months; tons of waste were burned; and some
disposal sites were established without adequate environmental consideration (including the
disposal of hazardous wastes). The financial and environmental costs were devastating.

Debris management was not considered a serious issue, relative to the emergency plans
regarding people’s safety and well-being. The lesson learned is that, in order to protect people,
planning should be based on a systems approach, whereby every component is functional in
itself and is coordinated into a cohesive working response.

According to the text,

1) it takes years or even decades to remove debris generated by disasters.

2) firefighters did not have any problem with debris, since they were equipped well.

3) after any disaster, victims are always transported to a safe place, even after severe floods.

4) if debris generated in a disaster is managed properly, the time for rescue and relief efforts
will be saved.

We have learned from the text above:

1) clearance operation takes several months

2) it takes time for medical care to reach victims

3) we have difficulty to provide water for victims

4) environmental consequences of disasters should also be taken into consideration when we
are designing disposal sites
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According to the text, “debris” means:

1) valuable part of everything

2) the remains of something broken down or destroyed

3) treasure

4) gem

According to the text,”jurisdiction”means:

1) dictatorship

2) watershed

3) the limits or territory within which authority may be exercised
4) the area in which debris flow is generated

According to the text "clearance operations” means:

1) issuing the permit for debris removal

2) cleaning up the area from debris and other remaining of a disaster
3) usage of clean areas for disposal

4) doing a clean job
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